Exercises
(A B

4. Expand and simplify.
a) (g+ (g +2g+3)
b) 2+ t+ &)1+ 3+ )
o Qw+3)(w +4aw+7)
d 4+3n+n)3+5nt n?)

5. Expand and simplify.
2) Qz+pBz+7)
b) (4f — 39(3f —4g+ 1)
c) (2a +3b)(4a + 5b)
d) (3a — 4b +1)(4a — 5b)

e) (2r+ s)?
£) (3t —2u)?
| B [

6. a) Expand and simplify.
D) 2x+ n)2x+y)
i) (5r + 2s)(5r + 25)
iii) (6¢+ 5d)(6¢ + 5d)
iv) (5v + 7w)(5v + 7w)
s
vi) (57 — 2s)(5¢ — 29)
vii) (6¢ — 5d)(6¢ — 5d)
viii) (5v — 7w)(5v — 7w)
_ b) What patterns do you see in the factors and
products in part a? Use these patterns to
expand and simplify each product without
using the distributive property.
i) (p+39)(p + 39
i) (2s— 7H(2s — 71)
iii) (5g + 4h)(5¢ + 4h)
iv) (10h — 7k)(10h — 7k)

7. a) Expand and simplify.
) (x+2p)(x — 2y)
i) (3r — 4s)(37 + 43)
iii) (5¢+ 3d)(5¢ — 34d)
T iv) Qv — Tw)(2v + Tw)

b) What patterns do you see in the factors and
products in part a? Use these patterns to
expand and simplify each product without
using the distributive property.

i) (11g + 5h)(11g — 5h)
ii) (25m — 7m)(25m + 71)
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@ Expand and simplify.
@(3y—2)(yz+y—8)
b) (4r +1)(r* —2r—3)
c) (PB+9h—2)2b—1)
d) (6@ +6x+1)(3x—7)

9. Expand and simplify.
a) (x+ p)(x+y+3)
b) (x+2)x+y I 1)
c) (a+ b)a+ b+
d) 3+ +t+s)

Expand and simplify.
a) (x+2y)(x—2y—1)
b) (2¢ —3d)(c +d+1)
¢) (a—5b)(a+2b—4) )

d) (p —29)(p +4q—71)

11. Find and correct the errors in this solution.
(2r — 3s)(r — 55+ 6) ‘
=2r(r— 55+ 6) — 3s(r = 5s+ 6)
=272 — 5rs+ 12r — 3rs — 15 — 18s
=272 — 8rs + 12r — 338

12. The area of the base of a right rectangular
prism is 52 + 3x + 2. The height of the
-prism is x + 7. Write, then simplify an
expression for the volume of the prism.

13. Expand and simplify. Substitute a number for
the variable to check each product.
a) (P+3r+2)ar+r+1)
b) (2 +2d + 1)(d* + 6d + 3)
©) (43 —2c¢—3)(—F +6c+2)
d) (—4m — n+3)(—2n* +5n—1)

14. Find and correct the errors in this solutiomn.
(3¢ +4g— D(—g—g+4)
=—3g4—3g3+12g2—4g3+4g2+8g

+2g +2g+8
= 3¢ +5¢ +6g +10g+8
@ Expand and simplify.

a) (3s+5)(2s+2)+ (Bs+ 7)(s + 6)

b) (2x + 3)(5x + 4) + (x — 4)(3x— 7)

¢) 3m+4)(m—4n) + (5m— 2)(3m — 6n)
d) (4y —5)(3y+2)— By +2)(4y — 5)

e) 3x—2)?— (2x+ 6)(3x — 1)

£) Qa+1)(da—3)—(a— 2)2




3.7 Multiplying Polynomials, page 186

4. a) g’ +38%+5¢+3

10.

1.
12.
13.

14,

b) 2+7t+ 62 +47 + f
€) 2w+ 11w? + 26w + 21
d) 12429+ 2212+ 83 + 1*

. a) 622+52y+y2

b) 12/*+4f-25f 3g+12g
€) 8% +22ab+ 1542

d) 120* +4a—31ap - 5p + 202
e) 4 +drs+ 5

) 92— 121w+ 40

-a) ) g+ y?

i) 25/ + 205 + 452
i) 36¢% + 60cd + 2552
V) 25v% + 70vw + 49,2
V) 45’ — 4xy + 3
Vi) 2572~ 205 + 452

vii) 36¢® - 60cd + 2542
viii) 25v* — 70w + 49y?
by i) p*+ 6pg + 94°

ii) 45"~ 285+ 492
iii) 25g° + 40gh + 1642
iv) 1004 — 1404k + 492

ca) i) P-4y? i) 972 — 165
iy 25¢° - 942 iv) 417 - 4942
b) i) 1218*—~25K7 ii) 625m® — 49,2
. a) 3y} H 26y + 16

B) 47 - 7P —1ar =3
€26+ 176~ 13b +2
d) 3¢ FIl2—39c_7

. a) x2+3x+2x_v+3y+yz

b) x*+3x+xp+2y+2 -
c) a2+2ab+é;2+ac+ba

dy 3s+st+5/+ £ +6

a) x*~x—2y— 47

b) 2¢*+2c—cd—34_ 34

€) @ —4a—3ab+20b— 105
d) P’ +2pg—8¢% - pr+ 297
277~ 13rs + 127 + 155 _ 185
X+ 1022+ 23x+ 14

a) #4137 + 122+ 5+ 2
b) 2d* + 14d + 1942 + 124+ 3
) —4c*+26c* - >~ 2206
d) 87" —18%° — 7% + 16n 3
—3g“—7g3+10g2+18g—8

15. a) 95* +41s5 + 52
b) 13x% +4x + 40
) 18m* = 2m — 42my — 4y,
d) 0
e} 3x* 28+ 10
f) Ta*+2a-7
16. a) 20— 2y
b) 10-2x
) 4 — 60x + 200
d) 4%’ — 60x* + 200x
17. a) 272" +43x + 16
b) X2+ 2x -2
18. a) X —6x*+ 12 _ 8
b) 8’ +60)* + 150y + 125
€) 64a’~ 144a%b + [08ah? — 275 '
d) & +3c%d+3ed + & .
19.a) 128’ +24%~4q  *
b) —6r" +3,2+ 3,
€) 40x* < 50x° + 15¢
d) -8x%y - iOny ¥ 25xy
8) 45° + 2b% — 2p?
f) -y
20. a) (2x+3) = 8x + 3622 + 545 + 27 .
b) 6(2x +3)°* =24x" + 725 + 54 =
21. a) 6x' +2x ~ 128x 160
b) 35° - 5>~ 172b + 224
€) 187 +3x* - 88x— 80
d) 504’ - 2354* + 2284 — 63
e) 8K+ 12k — 18k~ 27
22.a) X433+ 32+ )7 324 bxp+3y° +3x + 3y + |
b) ¥ - Iy + 39t - Y =37+ Gy~ 337 + 3y — I—1
c) £+ 3y + 3 + Y +3% 4+ Gxyz+ 3%z + 352 43 2’
e 3‘]
d) x*- 3+ 3g° -y =3+ 6xpz — 3y%z + 3x2 — 3y
—Z

3.8 Factoring Special Polynomials, page 194

4. a) X’ +4x+4 b) 9-6y+,?
) 25+ 10d + d* d) 49 - 141+ 2
e) x’—4 f) 937
g) 25-4° h) 49 - 7

5. a) Difference of squares
b) Neither
¢) Neither

d) Perfect square trinomial
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